Lecture 10 Shadowitz finish chapter 3 and begin chapter 4.

What have we covered?
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eft off here in Monday's lecture:
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bw can the divergence of B be zero if there is a source of B (incongruous)?
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pesn't the divergence tell us about sources of the vector field (incongruous)?
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e zero diverence just tells us that the vector field is not diverging say from
boint or faucet.

Th

e magnetlc ﬁeld does not come out of a point like the electric field. It is generated
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The infinity when r = rprime causes the integral to generatej(x,y,z) noE;J(, ')
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What is a simple example of current density (congruos)?
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There are infinitely many surfaces that share the same boundary line. Which one

are we supposed to use (congruous)?




N - 1~ Y.

Which of these surfaces do we choose to integrate over congruhus } }
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What are we going to cover?

1) Ampere's law examples

4.) Define voltage and potential energy in electrostatics.

1.) Infinite planar sheet of charge moving at constant speed v and charge density sigma.

How do you calculate B (congruous)? Y : nQ-wv_
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What do we know and what do we want to find out (informational)?
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choose a symmetrically locate filament of current in the y-z plane
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their B's we see B must point parallel to the y-z plane and in opposite directions above
and below the sheet of current in the y-z plane.

Now we can easily apply Ampere's law. First choose a path, a circle in the x-y
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2.) Two infinite planar sheets of charge moving. // L 4o 5. f .

current to solve this problem.
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What is the curl of B at these points?
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